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International Economics
IS arefomen
M.A. Economics (MAEC-12/16/17)

2nd Year Examination, 2019 (June)
Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

A : TE YA ST (80) FHl w1 B S oA (03)
wuel %, @ 9 T H fawfya B ySe wve o
feu T fomga feen & AR & U9 hl ' B
2

SECTION-A/ ©@US-%h )
(Long Answer Type Questions)/( ¥l 3w ated W9 )

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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de ;. wWis ‘w H AR (04) < ST o9 v f@ T
2, T® U & fou =19 (19) o fuif@ ?
el @l 399 @ Fod & YT ® SHW A B

1. Discuss the Heckscher-Ohlin theory of International Trade.
To what extent it is superior to the classical theory of
International Trade ?

W AR & eRR-Aefor fagra &t =amen Sl
TE AR AR & gfafed fagma 9 feg dm 9=
IS g7

2. Discuss the need for protection in an under developed
country.

Th Icqfgehfad <1 o TEI 1 STERIASRAl 1 U
Hifg|

3. Define Balance of payment. How can an unfavourable
balance of payment be corrected ?

T Fqed 1 IR il giiea P Hqem
H HY GUN S Al 7

4. What is World Trade Organisation ? Explain its objectives
and functions.

fava =R @Med F 7 TH IRl TS wE &
foe=m wifS)
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SECTION-B/( @Us-@)
(Short Answer Type Questions)/( g I A T9T)
Note : Section 'B' contains eight (08) short answer type

questions of eight (08) marks each. Learners are required

to answer any four (04) questions only. (4x8=32)

Me: @re ‘@ H A8 (08) oY I oA T A
™ ¥, TO% T & fau e (08) i frwifa
g1 foenfefal =l 9 ¥ wow WR (04) WA &
S T

1. Briefly explain the factors which determine the terms of

trade.

MR I R uifa w0 o @Al S dfer saren
Hifeq|

2. Explain the infant industry argument for protection.

W B B ST a% # SN sl

3. Distinguish between tariff and Quota.

T R Wi % W iR waEul
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4. Write short notes on trade creation and trade diversion.

POR goA 3 MR 9iEdd W uw Giarw feoqoh
ferfau|

5. Whatis foreign trade multiplier ?
et =R U @ @2

6. Distinguish between spot exchange rate and forward

exchange rate.

Terra fafma R qen oifim fafma & °9s si|®
ERIEY

7.  Write note on special drawing rights.

fagre smewor erfuer W feueht fafau)

8. Explain Euro-Currency market.

T GH ISR &I ARA FHifl
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SECTION-C/( @US-T)

(Objective Type Questions)/( &S TIT)

Note : Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

Me : @ ‘M H TG (10) deatTs e A W OE
T YT B faw TR (01) 3% Tl 1 o=@
e & wefi e sifed €

Choose the correct answer.

TE SW H T HifW)
1. The supreme administrative authority of World Trade
Organisation is :
(a) Ministerial conference
(b) General council
(c) Dispute settlement body
(d GATS.

fava =R g9 #1 A WEAE WEEE €
(1) w1 AR T

(&) He™EH

(®) faeg f9em fwm

(%) Tl
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2. Indian rupee is fully convertible in the :
(a) Current Account
(b) Capital Account
(c) Both (A) and (B)
(d) None of these.

(%) =1 @
() gsft @

() TA (31 R ()
() TH ¥ = T

3.  What was the India's share in the total world exports in
1950 ?
(@) 0.5 percent
(b) 0.9 percent
(¢) 1.0 percent
(d) 1.85 percent.

qRd &1 1950 H i fava fam o fean fewm om?
(1) 0.5 e

(&) 0.9 Hfaem

(9) 1.0 Hfqerd

(%) 1.85 wfawml
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4. Devaluation will be successful to control deficit in balance

of payment if :

(a) Demand elasticity of import is less than unity
(b) Demand elasticity of export is less than unity

(c) Demand elasticity of export is greater than unity
(d) Demand elasticity of import is equal to unity.

HIEIT A |ged ¥ W &l W HE H TwA BN
qfe

(31) T F T A THE 9 FH e
(9) Frafa 1 9 g sHE 9 %9 B
(@) frfa &) 9 &= TR 9 s ?

(3) 9| &1 G A THEE B ST e

5. Which of the following organisations primarily provides long
term loans for infrastructure development to underdeveloped

countries ?

(a LM.F.

(b) World Bank

(¢) Council on foreign relation

(d) OPEC.
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frafafea & ®F e SsTeufaeRfaa 90 1 oIe: T
% fawm 2g <F wefF B gErd Suesd Il @2
(37) SR.THTF.

(%) fova &

(W) oo wadi =1 wfg

(3) g

6. Small nations whose trade and financial relations are mainly

with a single partner tend to utilize :

(a) Pegged exchange rate

(b) Crawling exchange rate

(c) Freely floating exchange rate

(d) None of these.

B W e =R v facia 6y gerad UE 9EkER
o ¥, F T R v e

(37) &iea fafaa X

() T fafmma w

(¥) guicen faa fafa =

(3) =8 W HE T
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7. A depreciation of rupee will have its most pronounced impact
on imports if the demand for import is :
(a) Constant
(b) Inelastic
(¢c) Elastic

(d) Unitary elastic.

T & B H THF AW W ET UAE BN AR A
ik Uiy

(&) feer

(F) SRR

(9) d=RR

(%) hE d=ERI

8. Inabalance of payments accounting, tourism and travel are

classified in the :

(a) Merchandise trade account
(b) Services account

(¢) Unilateral transfer account

(d) Capital account.
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TAH Oged o@ied H, T TE@ 9HT . g
i foRd S e

(37) 9] AR @l
() 9T @
(9) T Teftg Tl @

(%) gsit @l

9. In autarky equilibrium :
(a) Production equals consumption
(b) Exports equal imports
(c) There is no trade
(d) All of the above.
3R Hqem H:

(31) ST SN ® TR el @l

(9) frafd oM@ + sUeR B ®
(9) =9MR 7€ B B
(%) SH= |
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10. Which of the following measure can remove balance of

payment deficit ?

(a) Exchange control

(b) Devaluation of currency
(c) Money contraction

(d) All of the above.

frafafad & &H o SUE A GgeH Sl g AR
Hehal 872

(1) fafraa fa=son

(9) H1 <kl SATHA
(9) g1 "=

(%) SH= |
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